The first step to solving an equation is ALMOST ALWAYS to remove grouping symhols.

RECALL: FIVE GROUPING SYMBOLS

Parenthesis Brackets Braces Absolute Value Division Bar
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When several grouping symbols are used together, always work from the inside out.

REMEMBER:

« Remove all grouping symhols first.

o Work on the side of the equation that contains the variable.
 Undo each operation that has heen done to the variable.

o Undo addition and subtraction hefore multiplication and division.

o Combine like terms whenever possihle.
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ex7) Jane, Jasmine, and Jocelyn have many pairs of shoes. Jane has =
3 times as many pairs as Jocelyn has. Jasmine has 2 more than twice £¢
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